MRT-330 capacity range - 16.25" mandrel arm IL%M PART NUMBER DESCRIPTION QTY
[ 1 E-504021 HRH Tooling Spacer 1
2 E-700017 MRH Top Roller Assembly 1
3 E-700018 MRH Winch Assembly 1
4 E-701083 MRH Base Weldment 1
l 5 E-704051 Weldment 2
< MRH-300-PT manual turner
(1409 : 6 |E-706025 tooling-pivol 1
l 55.25 g 7 E-707137 Pivot Mount Block 1
[533] [164] = [643] , 8  |K040558 M10 x 1.5 x 30 HHCS 4
21.00 6.44 25.33 Tooling turned horz.
9  [ko40688 M10 Flat Washer 4
[1243] 10 K040689 M12 Flat Washer 2
48,94 11 |koso0712 M10 x 1.5 Hex nut 4
é —
12 [K040715 M16 x 2.0 Hex Nut 3
13 K040825 M10 Lock Washer 4
10 14  JP-10054 M16 Lock Washer 3
15 |P-10965 1/2" Clevis Pin 2
| 16 [p-11009 Round Plug 1" 2
17 [P-11047 1/2" Bow Tie Pin 2
18 [P-11048 M16 x 2.0 x 110 HHCS 3
19 P-40326 Winch Strap 1
I = 20 P-40431 Dual Caster 1
21 P-40432 6 x1.5 Wheel 2
[209]
8.25
MRH-300-PT
i Tooling turned horz. Max Roll Dl_a: 46" (1—168mm)
Max Roll Width: 25" @ 300 Ibs.
(see MRT capacity chart for turning)
Max Load: 300 lbs (136 kg)
[457) i Lift Stroke: 58.25" (1784mm) travel
#19.18 = Max Floor Grade: 10 degrees with load lowered
crank swing (always transport with load lowered)
Approx. 3" (76mm) travel / crank rev.
0 \
[1763 ] Mandrel not shown: sold seperately
1 |
stroke 69.43 5
l1490 0 l
_} 7 P
¢ 587 2L
-5

THE INFORMATION CONTAINED PART. NO.
IN THIS DRAWING IS THE SOLE
PROPERTY OF SCHLUMPF INC.

ANY REPRODUCTION IN PART OR M-100375
‘ ‘ AS AWHOLE WITHOUT WRITTEN

PERMISSION OF SCHLUMPF INC.
IS PROHIBITED.
SIZE UNITWEIGHT (Ib)

REVISIONS

DESCRIPTION

All views shown in raised position

DO NOT SCALE DRAWING
DRAWN BY
Rich West
MODEL
MRH-300-PT

296.6

DESIGNED BY

Rich West

DATE CREATED
3/23/2011
DATEPRINTED

3/24/2011


mailto:mail@schlumpf-inc.com
http://www.schlumpf-inc.com/

